LO: To interpret and draw pictograms where one symbol represents more than one.                Orange
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Draw a horizontal pictogram to record this
information. Use the scale that you chose in
question 1b and remember to choose a symbol
that is easy to draw.

Fred says, “The number of children who chose
chocolate and vanilla altogether is equal to the
number of children who chose strawberry, mint
and banana altogether.”

Do you agree? Explain your answer.
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1) Ms White's class drew a tally chart

to show each childs favourite flavour °
ofice cream.
chocolate | J JHT JHT T
vanitia | i I
swawberry | W M |

e |l

sanana | |l

a) Complete the table to show
the number of children that
chose each flavour

1f you drew a pictogram of this data, what
scale would you use (how many children
would each picture represent)? Why would
you choose this scale?





